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SK 1. �äe¡��5�§|´Äk),�k)�¦Ñ§�):
x + y + z + w = 0,

x + 2y + 3z + 4w = 2,

x + 3y + 5z + 7w = 4.

SK 2. �â a���§?Øe��5�§|�)��¹µ
x1 + x2 + x3 = 3,

2x1 + x2 − ax3 = 9,

x1 − 2x2 − 3x3 = −6.

SK 3. � c,d��o��,eã�5�§|k)?�k)�,¦§�¤k).
x1 + x2 + x3 + x4 + x5 = 1,

3x1 + 2x2 + x3 + x4 − 3x5 = c,

x2 + 2x3 + 2x4 + 6x5 = 3,

5x1 + 4x2 + 3x3 + 3x4 − x5 = d .

SK 4. �äe��5�§|3¢ê�þ´Äk),ek),kõ�)?
x1 + 4x2 + 9x3 = b1,

x1 + 8x2 + 27x3 = b2,

x1 + 16x2 + 81x3 = b3.

SK 5. ´Ä�3�g¼ê y = ax2 +bx + c ,Ùã�¹ke�o�::

P1(1,2), P2(−1,3), P3(−4,5), P4(0,2)?
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